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3/18/2021
An oil drop of radius 2 mm with a density 3 g cm 3 is held stationary under a constant
electric field 3.55 % 10° V m ™ ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drop will possess ?

Consider g=9.81 m/s?
Options :

i 10
86435119981, 173 10

ri 10
86435119982, 1-/3 %10

o 12
86435119983, 172 > 10

11
86435119984, 28-8 %10

Question Number : 1 Question Id : 8643516661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JReiee 2MG 94 9918Ie 9@ 39 9946, 688 3.55x 10° Vm ™! a6 3 g cm 2 Q6! 942 2 mm
QIS da 6T 6o 6510l T0 QINER QHIAIRE | 6oR 6RIAIT 6REE AR AN ARG R
G 9Q2F ?

(¥& g=9.81 m/s?)

Options :

86435119981, 17-3 ¥ 1010

i 10
86435119982, 1-/3>10

. 12
86435119983, 170 <10

11
86435119984, 8-8 <10

Question Number : 2 Question Id : 8643516662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance moved by the box in time ‘t’ is proportional to :

Options :
86435119985, /2
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{1/2
86435119986.

(2/3
86435119987.

t
86435119988.

Question Number : 2 Question Id : 8643516662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RA7I2e dercad @d6a giens §e ZeRIea a9l 661 QI9q §9 93 goie @929l 6dIt a9
(6AdR) QIQI Q@ SEIANEG | ‘I AAKER, QYT QIR GRS KQA Q06 AAIFUIE 6208 :

Options :
86435119985, /2

(/2
86435119986.

(2/3
86435119987.

L
86435119988.

Question Number : 3 Question Id : 8643516663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

Options :

86435119989, 1 T
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86435119990. 4

86435119991. 3

2
86435119992. s

Question Number : 3 Question Id : 8643516663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QAIe AR 98 SIG6RIT ARG, A, B, C 9e° D g 596a @4l0Inael 219dI6a Q69 @aUAIRE | 9@
A Q 6RQ6R @AY 688 3T 24, C 0 6RQER QARIL 636 699 :

(4052 QAL 6AQYEe 2°de ARGIY §een QAIFe 987)

Options :

86435119989, 1 T

86435119990. 43

86435119991. 3

2
86435119992. e

Question Number : 4 Question Id : 8643516664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-‘CHC process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A D
200N/m?-——------ <
A
100 N/m2 - - . 1 Ne
B i
| | |
| | |
P | -
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
1 3 4
— % V(md
Options :
86435119993, 00
86435119994, 200 ]

86435119995, 200 ]

0]
86435119996.

Question Number : 4 Question Id : 8643516664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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F96a @4IQIRAR AQAICR OFG JFAEA AR 1@ §UalY JFT 29 quIdR P-V caede ads |
99 9E6Id g9@el CD IA96R MG RIY 216 :

(7a : y=1.4)
A D
200 I‘*I,:’rn2 “““““ <
N
|
100 I‘*ifrn2 ————————— =, ! v(_
B | | |
| | |
| | |
| | |
P | | |
| | |
| | |
| | |
[ [ [
| | |
| | |
| | |
| | |
| | |
1 3 4
> V@)
Options :
86435119993. 400 ]
86435119994, 500 ]

86435119995, 200 ]

0]
86435119996.

Question Number : 5 Question Id : 8643516665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented ’m, -

Options :
86435119997.
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y n L 3 _ a(t)
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— t — | —» i
86435119998.
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= 'IE_"\I = '--_-__)I ] a t
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¥ e z
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— —» t . AT
86435119999.
Q z -
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86435120000.
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Question Number : 5 Question Id : 8643516665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

30 Q0d Q2 0919 IR RERIR 2eF0, 0fERE Ye° REy AdIUIRUIRS

Options :
86435119997.
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) R >3 . a(t)
x &) 1 = §
5 .a-""'--- -'? ’// "[.'3"
= E / :J
=] ]
2, S g
i
— t — | —» i
86435119998.
4 =
- T— o I'(:" Q
= 'IE_"\I = '--_-__)I ] a t
§| 5 = S - )
¥ e z
2| 2
— o]
—t —» t . AT
86435119999.
Q z -
0 2 a(t)
g N = =
= & @
w o —
aL—" :
]
—>t — >t —>
86435120000.
-
~ WA =
N \
10 g7 3 a()
= o 'G 5
‘w7 L= : -
]
— —> 1 — t

Question Number : 6 Question Id : 8643516666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :
Options :

2
86435120001, 22 ™S
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86435120002, = ™S

86435120003, 0-2° mS

86435120004, 2 S

Question Number : 6 Question Id : 8643516666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220V, 50 Hz 2IRIN6R RIS 6210291 6618 goues dqie, 699 (1.4.) a 999 e e
goeakl 92 Q°ge KGR | Y9IE 69100 AR RN AR edge (219.90.49Q) g
adieas din 6Radel Aa 26T :

Options :

86435120001, 2> ™S

86435120002, 2 ™S

86435120003, 0-2° mS

86435120004, 2 S

Question Number : 7 Question Id : 8643516667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed at a distance of 0.5 m from them. The distance between the first and the third hright
f ringe formed when the slits are illuminated 'm a monochromatic Iight of 5890 A is :

Options :

o 12
86435120005, 1178 X107 “m

86435120006, 2890 * 10~ m

- 9
86435120007, 1178107 " m

1178 x10 " ®m
86435120008.
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Question Number : 7 Question Id : 8643516667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
COItN Oore §-2Q oY, 2@ (§9) 96 0.5 mm QUQUIRER QHIIeE 9e° daql(4q) ¢
6QAIEE 019 0.5 m YAGI6a 8 | 6d60696n 29gem 5890 A 338 6aItN waedl AR FR
2ICRIRE @aUdI, gaf 99° 9o A8e OB 26a QIR 629 :

Options :

i 12
86435120005, 1178 X107 “m

86435120006, 2890 107" m

- g
86435120007, 1178>107 " m

1178 x10 " m
86435120008.

Question Number : 8 Question Id : 8643516668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :

Options :

26435120009, O times the mass of e

1
— Hmes the mass of e
86435120010. 16

86435120011, 16 imes the mass of e

3 times the mass of e
86435120012.

Question Number : 8 Question Id : 8643516668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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RERGT, 66 @92Q 696 4 gé Q060 AERITY 06 AT | RERITEA Ye° QRN 0 G-6QI9R PaE
cLdIR 2RAIe 2: 1 69IR 999 ah6e, RdaITa 99 6968 :

Options :
.~ 99ea 8 g4
86435120000, ©  ° aeo 5 9
1
™ 93¢ 7 9
86435120010.
86435120011, ¢ “ae® 168

1
c” 99Q8 o 9
86435120012.

Question Number : 9 Question Id : 8643516669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = 2.7\/1. The measured value of the
8

Iengf_h of pendulum is 10 cm known toa 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy
in the determination of g’ using this pendulum is “x". The value of “x" to the nearest integer
18,
Options :
2%
86435120013.
3%
86435120014.

4%
86435120015.

5%
86435120016.

Question Number : 9 Question Id : 8643516669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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6QITNY ARQ COLRANR ZINERINR T — 2.7\/1 JIRI06R QdIINE | 604anfa €adY 1 mm @

g
A0@el 92 10 cm 26T 99° YO A9 UQUIF 1 6A6ad QI 66T AT eRIa @8 92Ia 200

ERLFR AR 100 62694€ 6R1R FFF AR | 1@ 6AYAF MR 79 Fda FAILIRAR ‘g’ FRYER
Q@8 foaxl A0l ‘X’ 26Q |

alalalale Q@G°EHFEG X' Q Fa 26T :
Options :

2%

86435120013.

3%
86435120014.

o

86435120015.

o7

86435120016. et

Question Number : 10 Question Id : 8643516670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435120017, 120 €V

86435120018, 27-2 eV

86435120019, 2012 eV

86435120020, 5192 eV

Question Number : 10 Question Id : 8643516670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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@REF @9 64 6AIEN REGIERR, QIR AL RERG AEY QUAR. (1) 90 AFIIQ FAUSR! | AR
RERIR 99Q MERFR LR 207 g8 9e° 92IQ 9IF RERP.KR U2 AAIR | 9P ARCLICHT, TRIGR
29108 @99 (ZEAFREFAR 6216ed2IR) 699 :

Options :

86435120017, 100 eV

86435120018, 27/-2 eV

86435120019, 512 eV

86435120020, 5152 eV

Question Number : 11 Question Id : 8643516671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent decay processes having half lives

14 and 1 respectively. The effective half-life, TE}Q e .
Options :
(1) +2)
TI,-' Tl,-'
Ty, = S
1/ 1/
86435120021. /2 /2
Ty, = T“,.]I IT':?‘_]I
/2 L 1
86435120022. /2 ’2
(T
R L. 72
Ty = O _&
1/ 1/
86435120023. 72 /2
36435120024. Mone of the above

Question Number : 11 Question Id : 8643516671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/89



3/18/2021
o s " ™ 10 ’ —
6alIE 60Rda AR ARI A2IQEA 218 AG QIS 11, 9" 11, Ul 9AT gea 84 gRaica Sate

62a28 | QI@eq 9&ee oRge (9eole) Eiéarq’l“lé 6ERT :

Options :
T T®
T = /2 /2
86435120021. g U
' 1
e T b
/2 72 b}
86435120022.
(T
R - /2
T_lsﬁ - TV _ 1@
1/ 1/
86435120023. 22
qgea F1rIg 6RE Q62
86435120024,

Question Number : 12 Question Id : 8643516672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.

Options :

86435120025, shape of the loop remains unchanged

86435120026. loop assumes circular shape with its plane normal to the field

26435120027 loop assumes circular shape with its plane parallel to the field

86435120028. wire gets stretched to become straight

Question Number : 12 Question Id : 8643516672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

14/89
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QQYe, 6919 ge@e c9R2Ql AAAIQ QIS 6CIEM GO R0 RUY 9@ QI QAR IR
Qsligml | GIeE RW6a 6AGR gRieq T9R :

Options :
26435120025, WER QI PIOGQEe Q@9 |

86435120026. Wl o Y MRl HINEH OIF QEIRIR NG LIS |

86435120027 oo o YR dflize Wleth Y QEIRIR AN WG |

86435120028. PlRe WY 6RIa dall 6RIRLS |

Question Number : 13 Question Id : 8643516673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm'’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 em and diameter of 5.00 mm. The measured current in the conductor
is 2.00 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435120029, -9

86435120030. 7.3

86435120031. .4

86435120032. 3.0

Question Number : 13 Question Id : 8643516673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6O 9Q1@IER, 10.0 cm 6DEY 98° 5.00 mm MY 3F8 60I1T9 QY6 0ERI1R AL FIER 5.0
V @ @69 91da4q g9edie eIl | AR g99I@e @946, 69169 AIg 2.00 A 269 |

Q8912100 E6aRIFCIEa TR AFEAIPFD 099! 86 266 :
Options :

86435120029, -9

86435120030. 7.3

15/89
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86435120031. b4

86435120032. 3.0

Question Number : 14 Question Id : 8643516674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The time period of a satellite in a circular orbit of radius Ris T. The period of another satellite
in a circular orbit of radius 91 is :

Options :

86435120033. 3T

9T
86435120034.

86435120035. <*

86435120036.

Question Number : 14 Question Id : 8643516674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R @uQis 358 6615 QRIRIR /96 29 19 R0geq 2LERIe T 266 | IR MAE d8a 9
QEIRIG RFTACA U9 AR 99 WYL AERD 2T :
Options :

86435120033. i

86435120034.

'j.H
86435120035, 2/ T

12T
86435120036.

Question Number : 15 Question Id : 8643516675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

16/89
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Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher
value :

Options :

86435120037, The resonance frequency will increase

86435120038, The bandwidth of resonance circuit will increase

26435120039, 1he quality factor will increase

The qualih,-' factor and the resonance frequ ency will remain constant
86435120040. g g

Question Number : 15 Question Id : 8643516675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6915 LCR 6g416a e agrle (206 Geriqig ) a82eq, 99 ZI6A 6aee 3940, 40caradq
QORIR QF FIRNYG 2D FRY VG, 6669 :

Options :
86435120037 Janie HIFE 9L |

86435120038, daele dedds QUIdYd Q@@ |

86435120030, T8I 990 (AT TIQR) 9 |

26435120040, TeeGl oa 1e° daqla Qe g9kt awe |

Question Number : 16 Question Id : 8643516676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

86435120041 Myopia and hypermetropia

86435120042 Presbyopia with Astigmatism

17/89
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86435120043, ‘Stigmatism

86435120044, Myopia with Astigmatism

Question Number : 16 Question Id : 8643516676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QF QAler 2Ig A Q8 | T4 AR 69 IR A6 AfIe (GRTd) ¢anl RIRY CAGIA YR

QIR, 61 980 12! 0] IQ AT Ie° FRERAG 96 YAIR CLRAN | GIPR @ AAWIQ FGUS F6R

64,
Options :
86435120041, P FE Sk T A G

8643510004, 289 @8 (2186QITRA) Q@ 08 (6gacieaidal)

26435120043, 2991 28 (2FSAITHEA)

86435120044, 2091 @8 (a1ldgQIeeea) Q@ ama Q@

Question Number : 17 Question Id : 8643516677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in

thermal equilibrium at a temperature T ? (kg is Boltzmann constant)

Options :

kT
86435120045,

86435120046.

86435120047.

18/89
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F.
86435120048. -

Question Number : 17 Question Id : 8643516677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 2197AIg6R 91D ALRR6R 9 69T 219d oHIq IR 99 gleay AIgl (Sg1R &g, gee) 6.
PIQUDE 0 FRY CREE 629 ?

(6QIaeaie Gaie kg 2169)
Options :

kT
86435120045

86435120046.

86435120047.

E
86435120048.

Question Number : 18 Question Id : 8643516678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IL
List - 1 List - 11

(a) 10 km height over earth’s surface (i)  Thermosphere
(b) 70 km height over earth’s surface (ii) Mesosphere
(c) 180 km height over earth’s surface (iif) Stratosphere
(d) 270 km height over earth’s surface (iv) Troposphere
Options :

cea35120040, @F(), B)-(iid), ()G, (d)-6)

ceass o005 @D, B, (D, (@-Gv)

19/89
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86435120051, @)1 (b)-(1), (€)-(iv), (d)-(iii)

26435120052, (@) (1), (b)-(iv), (c)-(iii), (d)-(i1)

Question Number : 18 Question Id : 8643516678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SRl -1 Q2 GIal - 11 @ AR -

QIaal -1 QIaal - 11
(a) €291 98§ 10 km @§6a i) olaage (asAdaq)
(b) €ae1 g8q 70 km @F6Q (i) 66l 4 (6AERIFAR)
(c) €ae1 g8q 180 km @§6Q (i) QAR LR (AICTITAR)
(d) gae1 g99q 270 km 2§68 (iv) 6gledl faa (S6a@an)
Qg6 91 Iepgeeq 0) Qeet 94 @ :

Options :
26435120049, @), (b)-(iii), ()-(ii), (d)-(3)

86435120050, @1 ()1, (c)-(1), (d)-Gv)

86435120051, (@) (b)), (S)-(iv), (d)-(iii)

26435120052, (@)-(1), (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 19 Question Id : 8643516679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plane electromagnetic wave of frequency 100 MHz is travelling in vacuum along the

Lo
x-direction. At a particular point in space and time, B = 2.0 x 10 4k T (where, k is unit

vector along z-direction) What is E at this point ?

(speed of light c=3x10° m/s)
Options :

06 j V/m
86435120053

20/89
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86435120054, 00 1 V/m

6.0 k V/m
86435120055.

86435120056, -0 Kk V/m

Question Number : 19 Question Id : 8643516679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gruea x-@a6a, 100 MHz 21984 9@ Q9691 §91a, 9ARId eas 66 Qq2a | 9Q gaia Gha

. —* A s 4 — = =3
3Q6Q 99" AA96Q, B = 20x 1078 k T (6260168, k 60@f z-366a 4SI 1eQ 54) |

e

@ @gee E ¢mY emeo 629 7

(2eReq 698 c=3x10% m/s)
Options :

06 j V/m
86435120053

86435120054, 001 V/m

6.0 k V/m
86435120055.

86435120056, -0 K V/m

Question Number : 20 Question Id : 8643516680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The
angular speed of the ring will become :
Options :
M

i N
86435120057, Lt m

21/89
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M

by —————
MM+ 2m

86435120058
M —2m
W =
-

86435120050, LT M
b + 2m
oy ———

86435120060. M

Question Number : 20 Question Id : 8643516680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q2q M 9e° QIR r B84 IR UeQ! CAININIA 9RA 121 AN FIFUE w CRAIGIG 69F6R YT |
Q6@ m QgQ 998 QRf QdRIg Y9Ia 9@ QUQ GT6R QAT URIC PR UIPITR | @RUTR
caléi@ 696 6RIRHQ :

Options :
M
D ———
M+ m
86435120057.
\Y |
W —————
M+ 2Zm
86435120058.
M —2m
e
M+ 2Zm
86435120059.
M + 2m
oy ———
86435120060. N
Physics Section B
Section Id : 864351446
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required? : Yes
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Sub-Section Number : 1
Sub-Section Id : 864351446
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643516681 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifier with a power gain of 10% The
input circuit resistance is 100 {} and the output load resistance is 10 k{). The common emitter

current gain ‘B’ will be . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643516681 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10° Q1@ 6918, A2 69159 npn CIFAA 98 ARIGG RYFR JIER INIAER ALY *9AR | Fead
aage gaealx 100 ) 99° QP6ad cmIg geealal 10 k() 2166 |

ARIRE RIFR NS TQE €QI0 ‘B Eee | (Feeed gdatgiea 9860 @)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516682 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A ball of mass 10 kg moving with a velocity .]{]\E m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 307 with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y- axis ¢ Ppjece 1

71=10m/s
\K# X - axis
v2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643516682 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x-28 P96Q jgﬁ m/ s 906996a s6agael 10 kg 99 994 60IEM @a, 80 26 &I 20 kg
@gQ 998 M Y@ OAQ I 69ET | 2] 6, AN eEF Ha UeYIq ULER cUCOEIER GO
QAT QR AAIQ $E6Q RSS! | 63T ¢d y-21F Ggea 10 m/s 69660 98 @9l QR @Rl | F1e

¢a% x-289 30° 6RIG6ER 96 KEQ AR @R | x-AFF 30° 61l K8 IR ¢8R 696 x m/s
266 | YR T6Q USYPRA FRAQ G¢) Tg6n @B Ix @ g eS|

- axis Piece 1

vy=10m/s

» X -axis

30°

U2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643516683 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 {1 resistor in the given circuit is x volt.

50 ()
—VWWv W
10 200}
i g 30N
' -

The value of ‘X" to the nearest integer is _

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
100

Question Number : 23 Question Id : 8643516683 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

QR @QUe, aeaaea 10 ) 9BeaRA QRAME AR e AQYE, R x ERING |

50 O
— NV AN
it 200
—— AN
170V
i .
Y QR 609 |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 24 Question Id : 8643516684 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
A

B

10 m

hﬂﬁ?ﬂﬂtﬂl

51‘1‘( iaﬂe

A J

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the
particle at B is x m/s.

(Take g=10 m/s?)

The value of “x’ to the nearest integeris .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643516684 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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B
10m

A

dIQRgel §8 AgAIER, 10 kg @9 94 66T AHRITY A TRER QKNS | 66066 *ERTY
4210 QIR161q AIFIRY YRIAN, 99 JE0Ql 2R Q6a 9e° B QQea U268 | B 9Q6a @RI 696
xm/s 86E |

(@8 g=10 m/s?)
‘¥’ Q FaN 62el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle performs simple harmonic motion with a period of 2 second. The time taken by
the particle to cover a displacement equal to half of its amplitude from the mean position is
3

R

a

The value of “a’ to the nearest integer is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643516685 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 626R€ 2L A2 6AITY RIQ 9P REAIFE G06a AMEE @QPE | AUl QIR (Fe

- - gl 1
E‘E]I'E{”E]QJ 5 dILIF Tl Yol SHIdy din @€al eRwdl Akl = s Zed |

aageruee |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516686 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3pF 5 ML
| | AMAAAN —m08M
|

q=30 pC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 uF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 MX{} resistor is ‘x" pA.

The value of "’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643516686 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3 pF 5 MQ)

| —WWWW—

X

F96a ICINAR 6TMER 0R0ATER 3 pF ARG 99° 30 pC 9IF A2 IR ARG A@AR | =0
ARILER, 6K6PERER ‘@ @ Q@ QARAUILIN, 5 M) goeaRIe c9a gelRe FQIe 6gI0a A
‘' pA |
‘X’ 9 fay 26ee
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516687 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is “x" m/s.
The value of “x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643516687 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P64 Q43 @@ 6919 42 120° 6a18 @8 10 m/s 69968 9998 Yo a@a 0@, F01e A 0958 |
69106 696 &S ‘¥ m/s | Y Qgaueee |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 28 Question Id : 8643516688 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratio of a : b. Then p can be expressed as — where x is
x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643516688 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6J6G6RER QEE 2RGl GIe A B B @dea 2 N dafide 9@ 9f gedid @aldrd, 6afien Jaligen
2 mm 99° 4 mm 9@¢1da YA cAQUE | U0 YREIIR RS YR A6 FUR 9 B 009

« L] " .r.-i 1 .
MKLIE A QIOQ 4I9Iaa 4 948 | A G B @laa AR AQdIie a: b 86T | ClLew b @ = 7L (LN

geie @A 629 690 x &GS |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516689 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A parallel plate capacitor has plate area 100 m* and plate separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacita_nce of the system is x pF.
The value of £g —=885%x10 12 F.m !
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643516689 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

65l AAI9a 6gF, UIRGR 64C 6AST® 100 m? 9e° 6gF A6 @aBl 10 m 6T | ARIEFQIERIT
10 491 5 m 6ISIQ 9@ 9QIg Q0 6969a8 FrIER QdIeRl | 4@ QUeRITa TR dIGEI 26e
x.pkd

(eg=8.85%x10"12 F.m~1)

oo gdarauen ‘v’ @ R 62
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643516690 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is

10 m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding
force on the bullet is ‘x” N.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 30 Question Id : 8643516690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6615 @I0 QRY 699 @8l digl 0.1 kg @2q 99 60159 gRq TIYIQ FAIGRI, @8 @I IO 712168
50 cm GRIGER @6 62IRRl | 9@ RI0F] A 699 9Ig gRER 696 10 m/s 29 9Q° 1@
AAQeEeR AR Y, 6069 g@F RUea 99ael JadaIal A5 O €2 ‘X' N |

¥ oy o o |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351447
3

Online
Mandatory
20

20

80

Yes

1
864351447
Yes

Question Number : 31 Question Id : 8643516691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a binary compound, atoms of element A form a hep structure and those of element M

occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound

is :
Options :

86435120071, 243

86435120072. :
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86435120073, MA3

86435120074, MaA

Question Number : 31 Question Id : 8643516691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ 9@ cdldiace (e A Q aefIgeEa 9@ hep @ aewl 98 @8 we° 6dRe M @ deaIgesa
hep PQERIER 9@ QLIS 65T162CIR i IR AR @03 | @ 6JITea 95 62a8
Options :
h"I");"i:‘
86435120071, = -
M, A
86435120072. 43
86435120073, MA3

86435120074, MaA

Question Number : 32 Question Id : 8643516692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

I3
n

86435120075.
2p
86435120076.

86435120077.

3p
86435120078.

Question Number : 32 Question Id : 8643516692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R PR 2R00men 6R18R 6R19Y FIF 19° 9R CRFIIM 6R19q A8 | 2RATING f9RE
Options :

86435120075, 25

2p
86435120076.

86435120077, S

86435120078, P

Question Number : 33 Question Id : 8643516693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - | with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) Z5SM-5
(b) Contact process (i) Cull,
(c) Cracking of hydrocarbons (iif) Particles ‘N1’
(d) Hydrogenation of vegetable oils (iv) V,Os

Choose the most appropriate answer from the options given below :
Options :

86435120080, (@) (Iv), (b)(ii), (c)-(1), (d)-(iii)

86435120081, (@ (i), (b)-(1), (c)-(iv), (d)-(ii)

86435120082, @@ (B)-(), (0)-()), (d)-(iii)

Question Number : 33 Question Id : 8643516693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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QIMRl -1 a2 eIRa - 11§ de1 .

QAR - 1 QIae - 11
(gauat) (eeegas)
(a) @0 gaIe (i) ZSM-5
(b) @9Iq 9L (ii) CuCl,
() 9EEINNTG ARG (iii) Particles ‘Ni’
(d) 6RREEY CORNG AURIFIRNE (iv) V,Os

FORge 998 frg AP VAYS 20T L
Options :
86435120079, @)1, (b)-(iii), (c)-(i1), (d)-(iv)

86435120080, (@) (V), (b)-(iD), (c)-(1), (d)-(1ii)
26435120081, @) (H1), (B)-(1), (c)~(iv), (d)-(i1)

26435120087, @i, (B)-(v), (©)-(1), (d)-(iii)

Question Number : 34 Question Id : 8643516694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mg?* and AI**, respectively,
are :
Options :
86435120083, 0-85 and 0.9

86435120084, U-/2 and 0.54

86435120085, U-68 and 0.72

86435120086, 102 and 0.99

Question Number : 34 Question Id : 8643516694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Nat 21069 21056 uQ§ 298 1.02 A | Mg2t 9e° AR q 21056 euais A 021960 6208 -
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Options :

86435120083, U-82 997 0.9

0.72 99° 0.54
86435120084.

86435120085, 0-68 1&° 0.72

86435120086, 1-0° 997 0.99

Question Number : 35 Question Id : 8643516695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :
Options :

86435120087, Dauxite

86435120088, aolite

86435120080, —Alamine

86435120090, —rYolite

Question Number : 35 Question Id : 8643516695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2IRfitan fuer annee goae fgae saris 219 ik faIKeael QIABRRT 6268 :
Options :

o

86435120087, % ¥ =%

& ORIGE
86435120088. )

QRICIGS
86435120089.

86435120090, 3 CEHRIEIE]
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Question Number : 36 Question Id : 8643516696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Keason K :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCQO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435120091 Both A and R are true and R is the correct explanation of A

86435120092, both A and R are true but R is NOT the correct explanation of A
86435120093, A is true but R is false

86435120094, A 1s false but R is true

Question Number : 36 Question Id : 8643516696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FC6Q 9u 98 QULGE | 6a1T9 QRIS A 99° QYT RIQE R |
QERIS A : 2D ¢0g 291 Q0% @ IFel anaea MgHCO,), & MgCO; 66 066 62IRQI |
@98 R : Mg(OH), @ 9d€ael géae MgCO; o Qeditel gédaa 0k 2N |
QACERIE BE 2RACH FORde Gas fUf AR RUYe Red Qg -

Options :
i 19" L x ) S &1 6% \“-.
26435120091, 0% A NG° R Q64 ¥9e° A @ 90Q, Qiehl 6268 R |
i q%° TR ) 103 i i 1.@‘
86435120092, VR SRR GO g A QSR TSR Ee B )
A 9oy @2 R Femi |
86435120093.

A f2M1 &2 R 96y |
86435120094.
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Question Number : 37 Question Id : 8643516697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - | with List - 11 :

List - 1 List - 11
(a) Ca(OCl), (i) Antacid
1 ”
(b) CaSO, - EHZD (i1) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :

26435120005, (@)-(0), (b)-(iv), (c)-(ii), (d)-(ii)

86435120096, (@) (i), (b)-(ii), ()-(1), (d)-(iv)

26435120097, (@) (iii), (b)~(ii), (c)-(iv), (d)-(i)

86435120098, (@)-(iil), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 37 Question Id : 8643516697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IRl - 1 986 eI@el - 11 @ fo1 .

QAR - 1 eIa@l - 11

(a) Ca(OCl), i) <Faq
» -

(b) CaSO, - EHZD (i) deng
(c) CaO (iii) 99
(d) CaCO, (iv) Q&ae aa avegq
FORYS Q98 I AR VAAYS RHE A :
Options :

86435120095, @@, (B)-(iv), (c)-(iii), (d)-(ii)
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86435120096, (@)-(i), (b)-(i1), (€)-(1), (d)-(iv)
26435120097, (@) (iii), (b)~(ii), (c)-(iv), (d)-(i)

86435120098, (@)-(iil), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 38 Question Id : 8643516698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :

Options :

86435120099, !

86435120100, 2

86435120101. 0

86435120102, 2

Question Number : 38 Question Id : 8643516698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FAURd SIRERNIRE 99° TAURR. AfR geRaq Al A9I96a 9l AINRIARd QLRIe el
6268 :
Options :

86435120099, |

86435120100. 2

86435120101. 0

86435120102, 2

Question Number : 39 Question Id : 8643516699 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11 :

List - 1 List - 11
(a) Chlorophyll (i) Ruthenium
(b) Vitamin - By, (ii) Platinum
(c) Anticancer drug, (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
26435120103, (@(ii), (b)-(ii), (c)-(iv), (d)-(i)

86435120104, (@) (1), (b)-(if), (c)-(ii), (d)-(1)

26435120105, @)-(W), (b)-(ii), (c)-(iii), (d)-(1)

86435120106 (@)-(iv), (b)-(iit), (c)-(i), (d)-(ii)

Question Number : 39 Question Id : 8643516699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eIml -1 99¢ QIR - 11 g a2

QIR - 1 QIR - 11
(a) 6EREATE, () Qeataq
(b) @eIdg - By, (i) YSEL
() &g cavaa Gax (i) 6ERNIVUW
(d) €99 2699 (iv) €Iegdan

GORgE 908 FIG SIS RAYS 268 QIS
Options :
86435120103, (a)-(iii), (b)-(ii), (c)~(iv), (d)-(i)

26435120104, @), (b)-(ii), (c)-(i1), (d)~(1)
26435120105, @)- (), (b)-(ii), (c)-(ii1), (d)-(1)

86435120106. (@)-(iv), (b)-(iit), (c)-(1), (d)-(if)
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Question Number : 40 Question Id : 8643516700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PTPh,), | and meridonial-[Co(NH,),(NO,),]|, respectively,

are :
Options :
Ph, P B N
3\ /r \I /
'l
Fh-_! / \'Bf C)-j[\./ | \.\:[*i\]:[—l,3
86435120107.
Phq,P\\ /Br H,N TDE NO,
\ vd
/ \PPhg DN/l NH,
NH,
86435120108.
. NO, .
PhsP B Fiah ? NO,
N 1]
/ \\ PPh and 3N/ T“!JI;\ NO,
86435120109. 3
NH
Ph.P B O,N 3 NH
i g R
Ni 5 Co
e’ e o’ | N\no,
86435120110. g

Question Number : 40 Question Id : 8643516700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
81g-[NiBr,(PPh,),] 9e° 60666I172IR-[Co(NH,),(NO,),] @ 208 @°aoq 6268 Q26

Options :
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Phgp\ /BI' |/
JQ°
Ph;F/ \Br 02[\/ | \\JH,+

86435120107.
Ph,P Br 92 No
™. \| 2
@
/ \IJPh3 Dﬂ/“LI—}NIh
86435120108.
NO, ..
PhsP Br HN | NO;
N\ )
»
/ \Pph s H3N [l NO,
86435120109.
NH,
Ph,P? B NH
’ \ / ' \I Vo
Ph, IJ/ \Br q5° 02\]/ | \NOE
NH,
86435120110.

Question Number : 41 Question Id : 8643516701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog,
(B) methane is generated from paddy fields
(C) methane is a stronger global warming gas than CO,
(D) methane is a part of reducing smog,
Choose the most appropriate answer from the options given below :
Options :
86435120111, (A) and (B) only
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86435120112, (A)- (B), (C) only

86435120113, (B)- (©), (D) only

86435120114, (A)r (B), (D) only

Question Number : 41 Question Id : 8643516701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A0R, AEgHe c9eT :

(A) gRE9 QPG ¥9° ZIERI QAR ol 98 @89I6R 659g caae FeaR
(B) e afaig feae Q& caigalg

(C) CO, zeagl feaq 2ye 43491 §F4eq 889 @929l aId

(D) {eage QRIOR gaa 99 &°d

FoRde 998 g RS RUYe 29af Qe

Options :

86435120111. it R

ala s
86435120112, (A (B), (C) @&

C G
26435120113, B (©) (D) 6@9%

86435120114. (A), (B), (D) cao@

Question Number : 42 Question Id : 8643516702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound with molecular formula C;HO can show :
Options :
86435120115, Positional isomerism

26435120116, Functional group isomerism

86435120117. Metamerism
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86435120118. Both positional isomerism and metamerism

Question Number : 42 Question Id : 8643516702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

268@ 9 GH,O 6dl5af ca¢ia Qg :
Options :

PORe AR
86435120115,

minlln[male T
86435120116, 20T AT AAI9EQE

e [sl[alat=a]
86435120117.

AR ZPRIEE 99° EAGIEAREN
86435120118.

Question Number : 43 Question Id : 8643516703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - I :
List- 1
(Chemicals)
a)  Alcoholic potassium hydroxide
b) Pd/BaSO,
c) BHC (Benzene hexachloride)
d) Polyacetylene

(
(
(
(

Choose the most appropriate match :
Options :
86435120119, @ (i), (B)-(D), (€)~(iv), (d)-(iii)

26435120120, @)-(ii), (b)-(1), (c)~(iv), (d)-(ii)
86435120121, @) (i), (b)-(iv), (c)-(i), (d)-(iii)

26435120122, @) (L), (B)-(iv), (c)-(ii), (d)-(i)

List - 11

(Use/Preparation/ Constituent)
electrodes in batteries

obtained by addition reaction

used for pB-elimination reaction

Lindlar's Cat al}-'st
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Question Number : 43 Question Id : 8643516703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

eImal -1 Q8¢ eifal eIA - 11 § dx12

QIR - 1

(auaiade)
a) 2NERIERRE 991dar FR6LIFNAL,
b) Pd/BaSO,

c¢) BHC (69&7 6299165006)
d) gR9adae
AR VALY 6FRRE QIS :

(
(
(
(
Options :

86435120119, @), (b)-(1), (c)-(iv), (d)-(iii)
c6a35120120. @), (B)-(1), (Q)(iv), (d)-(ii)

86435120121, @)-(1), (b)-(iv), (c)-(1), (d)-(iii)

26435120122, @) (1), (b)~(iv), (c)-(ii), (d)-(1)

QIR - 11
(eueee/dgee/eaIale)
QYIECEEE RERY. Q. TR

QIR gead Qe fea
B-GRIRQE JORAIE Ueee 99
AEReT REYND

Question Number : 44 Question Id : 8643516704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Reaction of Grignard reagent, C,;H-MgBr with CgH.O followed by hydrolysis gives compound

“A” which reacts instantly with Lucas reagent to give compound B, C;,H;CL

The Compound B is :
Options :
B

CHj,

86435120123.
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CH,

-

86435120124.

Cl CH;

CH;

pe

86435120125.

CHjy

CH;

s

86435120126.

Question Number : 44 Question Id : 8643516704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CgH O @@¢ §ome, 2eeda C,H-MgBr 08GaI 060 PRUACT G0l 997 @6q cedfa “A” 89
PeRdIe ANY 2Rede 996 9Pa0 A8 ceRal 6AIFR B, C,,H,;Cl |

cdl5@ B 6968 :

Options :

CH,

b

86435120123.
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86435120124
cl CH;
CH,
86435120125.
CH,
Cl
CH,
86435120126.

Question Number : 45 Question Id : 8643516705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H-,O H,0
oy ] & Jn"% n ]
H Ht,A
(Major Product)
Consider the above chemical reaction and idz:-ntf_f}-' prnduct g Lo
Options :
CH,NH,
86435120127.
CONH,
86435120128.

47/89



3/18/2021

|
C=N-OH
86435120129,
CH,NO,
86435120130.

Question Number : 45 Question Id : 8643516705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=N
COOH
H-,O H,C
—’_ a f‘\_”’ —’_
H* A
(Major Product)

ROARYS QUGS oIty G908 @8 ¥9° agle “A” q 912 :

Options :

CH,NH,
86435120127.

CONH,
86435120128.

i

C=N-0OH
86435120129.
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CH,NO,

86435120130.

Question Number : 46 Question Id : 8643516706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H;
Alkaline KMnQy,
} JJ’KJ‘[‘
H*
OCHj;
Considering the above chemical reaction, identify the product “X" :
Options :
CH,OH
¥ =
86435120131. OCHs
COOH
X -
OCH;,
86435120132.
CHO
X -
OCH,4
86435120133. .
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CH;

OH
86435120134.

Question Number : 46 Question Id : 8643516706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CHay

A1918 KMnO,
H+

}_ A K.U

OCH,

QUoRde QIALRe gERAISe Q9la @8 @9 “X” §q 99 -

Options :
CH,OH
x s
86435120131, OCH,
COOH
X -
OCH;
86435120132.
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CHO

X_
86435120133, Kk
CH;
X -
OH
86435120134.

Question Number : 47 Question Id : 8643516707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H,C CH,

Noxge
H,

NaNO,, HCl

} P X”’ .}: i Y.‘:"
273K -278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
el N
. -.CH

and N~ 3

86435120135. CHs
Cl Na K
and N
o “\\c&{

86435120136. CHjy
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N5 Cl~ /CI I
and %
O/ CH,
86435120137.
Cl _;"CHH
d \
an O/ CHH,

86435120138.

Question Number : 47 Question Id : 8643516707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H,C CH,

b
H;

NaNO,, HCl

> i Kﬂ' .}: & Y.‘f
273K-278K (Major Product) (Major Product)

RUANYe 9PRIQ G0l @8, X 99° Y QaIg6Q 62R8R :

Options :
5 Cl~ N N
q@° O/ N~ ke
CHj,
86435120135.
Cl Napn
Qe i ] N
ij "

86435120136. i
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cnfi
Ja"° @
86435120137.
CH;
Qr
@ : O/ ') o
86435120138.

Question Number : 48 Question Id : 8643516708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid i) Novestrol

(

(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iii) Valium
(d) Tranquilizers (iv) Alitame
Choose the most appropriate match :

Options :

s6435 120130, @), B)-(v), ()i, (d)-()

86435120140, @), (B)-(iv), ()-(0), (d)-(iii)
86435120141, @-(1V), (b)-(1), (c)-(i), (d)-(iii)

86435120142, (@), (b)-(iid), (c)-(1), (d)-(ii)

Question Number : 48 Question Id : 8643516708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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IRl -1 996 eI - 11 g f9I2

QIRRI - 1 QIRal - 11

(Gaa sgat) (qaie)
(a) 9QEag (i) 6RIERam,
(b) QEa ArIee (i) QEPEEw
(c) UPeae! (i) QURAA,
(d) feEew (iv) @IREsn

AR RAYD 6RE QIS
Options :
26435120139, (@) (1), (b)-(iv), (c)-(iii), (d)-(i)

86435120140, @ (), (B)-(iv), ()-(i), (d)-(iii)
86435120141 @H(¥), (b)-(i), (c)-(ii), (d)-(iii)

86435120142, (@), (b)-(ii), (c)-(1), (d)-(ii)

Question Number : 49 Question Id : 8643516709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is :

Options :
86435120143, Glucose

86435120144, Fructose
86435120145, Galactose

86435120146. Sucrose

Question Number : 49 Question Id : 8643516709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NG UGERINR 97 “A” @0 IR QR @E ARG AYR @R | @F “A” 62e8 :
Options :
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QeI
86435120143, =~

6QI
86435120144, 207 O

QIRERIR
86435120145, ;

QRIS
86435120146,

Question Number : 50 Question Id : 8643516710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :
86435120147 NO2

86435120148. e

86435120149, NO

¥

N
86435120150. =

Question Number : 50 Question Id : 8643516710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

136 2960 ARIFER, 29 e 1-RITeendie 2fieds GQRAWe 6ausq 6HIF Q2R @6l ARl
QIODE @9 :
Options :

86435120147, NO2

86435120148. e

86435120149, NO

¢l

N
86435120150. =
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Chemistry Section B

Section Id : 864351448
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351448
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643516711 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Complete combustion of 3 g of ethane gives x ¥ 102 molecules of water. The value of x is

(Round off to the Nearest Integer).

[Use : N, =6.023 x 10%3; Atomic masses inu : C:12.0;0:16.0 ; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643516711 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 g QEARS AAd Q95960 QR 99 xx102 @R AG | x Q RN 6208
gearavies 289)
[Q4e2ia @8 : N, =6.023x 103 ; I0I68a @4 u 68 : C:12.0;0:16.0 ; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 52 Question Id : 8643516712 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643516712 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX 6915 Qe°6QIR FUAAIKITR 2 6URA6R A 99° X 626988 Adis Ade Fom A
6FIRQ | 2ERER Gal 2AQAIER AX 6 Q@R 6288 2.5 | AX 60 6716 Qlemg. @ d°6H 6268
(PReen geasaiicn d86e @)

&)

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643516713 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CHg — GH, +H,
the reaction enthalpy A H=__ k] mol 1. (Round off to the Nearest Integer).
[Given : Bond enthalpies in k] mol 1. C—=C:347, C=C:611;
C—H:414, H-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 53 Question Id : 8643516713 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a8&a C,H, — GH, +H, a 96§agdea A H= k] mol !
(P@cen gdasicn 00de @)
[@8 : @@ gdeld gee kK mol~16a : C-C:347, C=C: 611

C—-H :414, H-H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516714 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is »1073. (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol !

Freezing point of pure water =(0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643516714 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 molal 9@ 2¢] HA @ @1 3.885°C | 4@ 2i¢la 2§ 92eiead A8l 6268 - ||
(P@eed geaseiica dade @)
[98 : @98 RN Aged Gais =1.85 K kg mol !
Qg8 @re @as =0°C)
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643516715 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acelic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid)=4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643516715 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

NEER 2F, 996 6QIGEs wdeee faIDIR 996 6IRgel @Ue 9e9a pH 5.74 | 99 @R 994eR
QTR 2g9 9196 LOM 94, QUa6R cAFAF Id6eea el 6298 M

GReen gdacdiicn aade aa)

[@@ pKa (9@ af) =4.74]

q
(

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516716 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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For the reaction
2Fe’* (aq) + 21~ (aq) — 2Fe?* (aq) +L,(s)
the magnitude of the standard molar free energy change,

&

A/G,=-_ k] (Round off to the Nearest Integer).
E g2t /megg) = ~ 040 Vi E'pas py= — 0086V
E°, /- = 0539V;  F=96500C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643516716 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

G&a 2Fe’* (aq) +21 " (aq) — 2Fe?* (aq) +1,(s) 69 QISR 6AIRIAQ 72 99 QALEARR AGAIE
q q >

.

[+

6968 : A,G,, =— k]

m SR L

(Fecen gdacaica 0fde @)

TE 0440V ; E® 0036V

“Fe?*/Fes) ~ Fe®*/Fe(s)™
E%, fy1- = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516717 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2 NO(g) + Cl(g) = 2 NOCI(s)

This reaction was studied at —10°C and the following data was obtained

run [NO], [CL], Iy
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, and [CL,], are the initial concentrations and rj, is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643516717 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +CL,(g) = 2 NOCI(s)
10°C QI9R18I6R 98 goqaicq 2:ae acn FORee e2y Fam -

run [NO], [CL, ], Iy

1 0.10 0.10 0.18

2 0.10 0.20 0.35

3 0.20 0.20 1.40

[NOJ, €& [CL ], 6248 gIafa aIeel 1e° 1, 6208 JIafa goaa e |
goagIe Qe 210 62ad | (Feeen gdaratien afde a9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K,[Cr(oxalate),] is
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643516718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

K,[Cr(oxalate),] @6#960 291 26419 REAQY AT AGEAIS Qe 6208

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516719 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,O) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C:12.0u, H:1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643516719 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7.8 g 2i6alRa (MW=56) (C;H,0) @4 @89l IR 3-298d 69Iaae (MW =74) 3691096
ARNER NG RIS g 4@ 4609 9919 64 99

(Facen gdacdiica af€e aa)

[@& : 21698 QIgel : C:12.0u, H: 1.0 u, O : 16.0 u]

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643516720 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A reaction of 0.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx10~1, when n= . (Round off to the Nearest Integer).
[Given : Atomic masses : C: 120 u, H:1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643516720 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cRlerIfica 996 0.1 mole €9EIRR 2ING R @8 69a2M 23 g 693199, gIafi2Iamn ZIAIFa
6QINIRE | 29 dORAER MF 6Q16AIK6AR 6aIM Q°eM nx 10~ | 6UEPERER n=
(Geceq gdasicn 0a8e @)
[9@ : 90888 @9 C:120u, H: 1.0u, N : 14.0 u, Br : 80.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Mathematics Section A
Section Id : 864351449
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351449
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643516721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the functions are defined as f(x)= Vx and g(x) = 41 — x, then what is the common

domain of the following functions : f+g, f—g f/g. g/f §—f where

(f = g)x) =f(x) = gx), (f/9)x) = M
g(x)

Options :

86435120161, 0 =x <1
86435120162, 0 <x <1

86435120163.

86435120164, 0 <x =1

Question Number : 61 Question Id : 8643516721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
48 aeegdq f(X) =X 9@ g(x)=T-x 60 QRI8 QRICIY, 6069, TPRYEFR f+g, f—g,
f/g. 8/f. g~ f 9 QG G090 686 (6€I6A7) & 26T :

fx)

(636068 (f * g)) =) = 80), (f/)®) = =5

Options :
86435120161, 0 =x <1
86435120162, 0 <x <1

86435120163, 0 =¥ =1
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86435120164, V<x =1

Question Number : 62 Question Id : 8643516722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation a|z/? + &z + az + d = 0 represents a circle where a, d are real constants,

then which of the following condition is correct ?

Options :

A SR I _
86435120165, '@~ ad =0andae R
86435120166, |- ~ad >0and ae R—{0}

2 g,

86435120167. | ad =0

| — i }
86435120168, =0 a, d e R

Question Number : 62 Question Id : 8643516722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q@ alzP + @z + az + d=0 W1R0GE 9@ 988 956 @69, 69«0 a, d Q9 FaI, 6669 &Y

Qe fg 6eaf 0] ?

Options :

86435120165 i il
2, = A

26435120166, @l —ad >049e°a e R—{0}

2 s &
86435120167, (@~ — ad=0

y —_— g }
86435120168, =0, & d e R

Question Number : 63 Question Id : 8643516723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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0

3| and 2A-B =
1 0 1

Let A+2B= If Tr(A) denotes the sum of all

o =
PR L T

[ I ]
S = L |

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435120169. 1

86435120170.
86435120171, 2

86435120172, U

Question Number : 63 Question Id : 8643516723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 20 2 -1 5
QiFae A+2B=| 6 -3 3|9@*2A-B=|2 -1 6| €@ qgg (A0d1) A o ada ang
5 3 1 0 1 2

RAIFIe Aewe 4099 Tr(A) §6d GLe @aIdN, 6669 Tr(A)—Tr(B) @ gay Al :
Options :
86435120169. 1

86435120170.
86435120171, 2

86435120172, U

Question Number : 64 Question Id : 8643516724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Let «, 3, v be the real roots of the equation, +axZ+bx+c=0, (a, bce Rand a,b=0). If
the system of equations (in u, v, w) given by au+pv+yw=0; put+yo+aw=0;
.az
v + ow + Bw =0 has non-trivial solution, then the value of o |
Options :

86435120173. 0

86435120174, 1

86435120175. 3

86435120176. 2

Question Number : 64 Question Id : 8643516724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARRE (MRILIR) «, B, v, AARRE 23 +axZ+bx+c=0, @ (a, b ceR, a bz0) 999 9 (1)
298 | 9@ (u, 0, w 69) 99 QN@QE €L au+ pPr+yw=0; pu +yo+oaw=0; yu+ov+pw=0 Q

32

ZQIQE Gellie 2N, 6969 =3y @ ¢l 26T -

Options :

86435120173. 0

86435120174, 1

86435120175. 3

86435120176. 2

Question Number : 65 Question Id : 8643516725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
is :

Options :

86435120177, 22264
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86435120178, 20664

86435120179, 12227

86435120180, 1226064

Question Number : 65 Question Id : 8643516725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ae 1, 2,2 99° 3 @ QU999 @4 J9IKIRdRlRl AR QRle @8 A WIAIREa AN 26T :
Options :

86435120177, 22264

86435120178, 26664

86435120179. ~ ===+

86435120180, 122664

Question Number : 66 Question Id : 8643516726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+ 230 =a,+a,x+ax?+...+a,yx%0. Then, a,+a;+a.+.... ba,- is equal to :
Options :

71‘3{-}2{] | 71]
86435120181. = '~ '

jH]{j"{] | 71]
86435120182.

219{22{] 21]
86435120183.

2{]{'}7‘{] 21]
86435120184.

Question Number : 66 Question Id : 8643516726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

((-1 ‘:F:;‘:F:;E. []. X | ]_{ —r.-i{] f r.-il.'l f r.-i'j.'l t ... ;“1_1{].1'1{] G@GE" al f i'.-ia f 'EiS g f r.-ia;.r Q_((-] ';1 H
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Options :
21‘.!{22{] | 21]

86435120181.

A X 20 4
86435120182, 2 (27 T21)

21‘3{22{] 21]
86435120183.

23]{22{] 21]
86435120184.

Question Number : 67 Question Id : 8643516727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 3 4 1 is equal to :

44 :

3 4 ;
4
34+ ... o
Options :
86435120185, 12 1 V3
') Jr—

86435120186, 2 T V3

7
s6435120187. 3 + 23

86435120188, 4 + V3

Question Number : 67 Question Id : 8643516727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 * y
34 1 Q Fla GRS -
4 4 1
3 4 1
4 4
L L SR x

Options :

1.5 4 x-"'i

86435120185.
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86435120186, 2 T V3
86435120187, °

86435120188, 4+ V3

Question Number : 68 Question Id : 8643516728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1 1 1 1 :
= s e e Wi 0= L
Ll | e —1 d5—1 (201)" —1

Options :

86435120189, 1U1
101
86435120190, U8

99

86435120191, 0

101
86435120192, 04

Question Number : 68 Question Id : 8643516728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b — b S F———— @ QAR :
Options :

86435120189, 101

101
86435120190, U8
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99

86435120191, *00

101
86435120192, 404

Question Number : 69 Question Id : 8643516729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a, p are natural numbers such that 100% 1993 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through («, ) and origin is :
Options :

86435120193, 210

86435120194, 230
86435120195, 940

86435120196, 950

Question Number : 69 Question Id : 8643516729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9% , P QEIES Qi QILIDIS 100%— 1998 = (100)(100) +(99)(101) + (98)(102) + ...+ (1)(199),
6669 (o, B) 6 FREQ I 6N 8 FQAS 6aSIR 61T 26E :

Options :

86435120193, 210

86435120194, 230
86435120195, 940

86435120196, 920

Question Number : 70 Question Id : 8643516730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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| i

x| =1
If f(x)=4I1% is differentiable at every point of the domain, then the values of

{aleb; x|=1

=

aand b are respectivel}-' -

Options :

2.1
86435120197, 2 2

86435120198, 2

b |
P3|

86435120199.

ra |

4
86435120200, 2

Question Number : 70 Question Id : 8643516730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1
|— s x1=21
QG aee f(x)=4Ix ¢ 915 90Q9e (6QI6A1q) B €66YR TQ0IER 2AER 6 2Raaa1,

a:leb;xfil

6069 a e° b @ fa L2IKET :

Options :
3 1
86435120197, 2 2
) g
86435120198. 2 2
53
86435120199, 2 2
4 3
86435120200. 2 2
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Question Number : 71 Question Id : 8643516731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec 1x

Jx — |x]

equal to x, is defined for all x belonging to :

The real valued function f(x) = , where [x] denotes the greatest integer less than or

Options :

86435120201 all reals except integers

86435120202. all reals except the interval [ 1, 1]
86435120203, all non-integers except the interval [ -1, 1]
86435120204, all integers except 0, — 1, 1

Question Number : 71 Question Id : 8643516731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec 'x

[x]

X

Q199 gy g9e f(x) = , (6020168 [x], x 0Ig AIF QI AR AR ARG gaa g gFe
R68) 59 Qe FAILIRE QD x TR, 6KU8 x Q89 :
Options :
SQ°al QUeTe 9RI9 QI9e TRy F12I6R
86435120201, & g i

86435120200, L~ 1 1] 2201 Q1616 A9 QIGQ (mY (12168

1L 1] Z96is SUele 298 Zid-gdacel 26
86435120203, | 1 996 e .

0, —1,1 QU816 ANY LA ¢ A6R
86435120204. L

Question Number : 72 Question Id : 8643516732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3 KL i) ERIE -1
. lim SIn ~x —tan “x

S 5. is equal to L, then the value of (6L +1) is :
Options :

s
86435120205. ©

86435120206. ©

3

86435120207.

b | =

86435120208.

Question Number : 72 Question Id : 8643516732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. —1 -1
limSin x—tan x

x—0 _'%-1'3

o =L @9, 606@ (6L+1) @ ¢)a4 A6E :

Options :

==

86435120205.

86435120206. ©

R

86435120207.

b=

86435120208.

Question Number : 73 Question Id : 8643516733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cosy/(2x — 1) +5
m"r:lxz 4x + 6

Dy
The integral _[( - dx is equal to:

(where ¢ is a constant of integration)

Options :
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i
;sin\/{h’ I 1]2 o
86435120209. =

1
—sf_nﬂuu'[(Ex 'l]z F3 + ¢
86435120210.

'1 f
—C084/(2x 'l]2 +5 + ¢
86435120211, 2

1
—cns\Ir(Ex I 1]E F5 + ¢
86435120212, 2

Question Number : 73 Question Id : 8643516733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: I 2
{2y
ROV — e e ey

alall=lal ﬂzx
‘ Vax? — 4x + 6

(6QE0I69 ¢ 99 AAIRPe o)

Options :

a
;sin\/{b_’ I 1]2 5 + ¢
86435120209. <

1
—af_tw'[(Ex '1]2 L3
86435120210.

1 r
—cos+/(2x 'l]2 5 + ¢
86435120211 2

-
“

i
—CDE\I{{EJL' a3 T e o -
86435120212.

Question Number : 74 Question Id : 8643516734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas yz =4a(x+a) is :
Options :
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86435120213, dﬁ

86435120214.

86435120215.

86435120216.

Question Number : 74 Question Id : 8643516734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aeQea Qe y=4a(x+a) QI YT 622 AR AANRAST 26T :

Options :

86435120213. dﬁ

] d—ﬂ - 2x d_ﬂ y=0
dx dx
86435120214. / )
dy > d
H[ayw 21[%) Fy =0
86435120215. / )
dy? d
y[gﬂ 21[33‘) y=0
86435120216. J \dx )

Question Number : 75 Question Id : 8643516735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2 yz 10x lﬂy 41 =0
x2 yz 22x - 10y +137=0
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Options :

86435120217, circles have two meeting points

86435120218, circles have no meeling point

26435120219 circles have only one meeting point

86435120220. circles have same centre

Question Number : 75 Question Id : 8643516735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q8 QET G9UER 96 RARTY A @A (918), AT AMRAE FFER TRUIKIGE |
x2+y?—10x— 10y +41=0
x2+y2—22x— 10y +137=0
Options :
86435120217, “ATIRER 9RF Hee 9 28

saceea fee a0 oF
86435120218, =©

QAR 16 caIEY fee Gr &g
86435120219. *

VO HOCROY O 0] Talls]
86435120220, AFIREA 660G QG Q! (QaIe)

Question Number : 76 Question Id : 8643516736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : x> +1y?=1

Circle N : 22 +y?—2x=0

Circle O : x*+y?—2x—2y+1=0

Circle P : x>+ y‘""- 2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,

centre of circle P is joined with centre of circle M, then these lines form the sides of a :
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Options :
86435120221, Rectangle

86435120222, Rhombus

86435120223, >quare

86435120224, | arallelogram

Question Number : 76 Question Id : 8643516736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q15 @& M, N, O 9e° P aia G 2A19ad G21e2i8
Qe M: x2+y?=1
QR N: x2+y?—2x=0
QR O: 2+y*—2x-2y+1=0
Q@ P: x?+y?-2y=0
93 9@ M @ €995 9@ N @ 699 42 6uIgId, 9a¢ 9a N @ 6299 98 O @ 669 42, 98 0 @
6R09 Q8 P 0 690 99 99° 996H960 QA P @ 6909 98 M 9 698 4@ CRIPIKN, 6069 1@
6R4I9PR TIgeed 986 F LIKIRAR §9F 6618 :
Options :
86435120221, UKEEEY

86435120222, ™4

QEieRe
86435120223.

Qe
86435120224,

Question Number : 77 Question Id : 8643516737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :

86435120225, U
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[}

86435120226.

-2

86435120227.

(S5

86435120228.

Question Number : 77 Question Id : 8643516737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m @ 696915 QE‘;Q”%H Y gig 6ad Q9 3x+4y=9 99° y=mx+1 Q 689 IR x-AT 9
Yol 26T :

Options :

86435120225, U

86435120226.

I3

86435120227.

86435120228. 3

Question Number : 78 Question Id : 8643516738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of one of the straight lines which passes through the point (1, 3) and makes an
angle tan 1 (2) with the straight line, ¥y + 1= 342 x is:

Options :

26435120029, V2 x + 5y — (15+442) =0

5 ( =
86435120230. 42x -5y - (5+442) =0

26435120231, V2 X +4y — (15+442) =0

3]
I
=

86435120232, 42 x +5y — 49

Question Number : 78 Question Id : 8643516738 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

89 (1, 3) Pl 608 66 QUel <6° 2a9eREl ¥ +1=3vZ x @2 tan! (V2) cRl8 AGR GQAQ
ARRCASNER ARG 26T :
Options :
|._ d —
86435120220, 42 ¥ + 5y — (154 442) =0

2 x [ =
86435120230. MW2x—-5y— (5+442) =0

g6435120031. D¥2x +4y — (15 +442) =0

86435120032, N2 X +5y —4J2 =0

Question Number : 79 Question Id : 8643516739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

- . 2 . D
1+sin"x sin“x sin“x
q 2 2
cos“xy 1+ cos“x cos“x|=0,(0<x <), are :
4 sin2x 4sin2x 1 + 4 sin2x

Options :

86435120233, 0

86435120234, 12 12

86435120235, 12 12

86435120236.

Question Number : 79 Question Id : 8643516739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
1 + sinx sin’x sin’x
aeead | cos’x 1+ cos’x cos?x| =0,(0< x < 7) @ ANUKYF 2SS :

4 sin2x 4 sin?x 1+ 4 sin2x

Options :
T b
86435120233, & 6
27 IE
86435120234, 12 1
?_’.r 114
86435120235, 12 12
a0 a0
86435120236, 12 ©

Question Number : 80 Question Id : 8643516740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
A vector a has components 3p and 1 with respect to a rectangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
- ﬁ‘ : -
with respect to new system, a has components p+1 and ./10, then a value of p is

equal to :
Options :
86435120237, 1

86435120238, 1

4
86435120239, 2

5
86435120240, 4+
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Question Number : 80 Question Id : 8643516740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0

99 LOIRIR FEREI"a gaIN FIECRIT SIN) 68 681 &

ml'

Ji a @ QUG EGYPR 3p 9&° 1

4@ gaI91g (9FR0I6a Q910 FUR10 G66R ¥ FRE 6RIANINER JRIE GRIGRI | 9F SeT gOIRIER

3
a

Q QUIRIS 2EgEe p+199° /10 928, 6069 p @ fa QIS -
Options :
86435120237, 1

86435120238. 1

G|

86435120239.

H= |

86435120240.

Mathematics Section B

Section Id : 864351450
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351450
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643516741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z,, z, be the roots of the equation z> +az+12=0 and z,, z, form an equilateral triangle
with origin. Then, the value of |a| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 81 Question Id : 8643516741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARG z,, z, ANGRE z2+az +12=0 Q Q@ BGE 9Q° z;, z, (]NFQ AL @ AL GQF SaG
@02, 6669 |a| @ FJay &6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x?) + g(4 —x)=4x" and g(4— x) + g(x) =0, then

4

the value of J‘._f{IE]dI -
—4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643516742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AR f(x) 99° g(x) @6 IPe Ll f(x) +g4d-x)=4x> @ gd—x)+g(x)=0 § Q239 (4d9)

4
@63, 666 [ f(x*)dx @ qau 2i6e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643516743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. S =~_D0 ;
ox" +7x '
If f(x)= _[ : — dx, (x = 0), f(0)=0and f(1)= i_, then the value of K is
(x2 +1+247) K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643516743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5x5 + 7x°

ad f(x) = | = dx, (x = 0), £(0)=0 <9° f(I) = ~, 666@ K @ gAY 26
f(0 =

-_r]._

(2 +1+ 24

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643516744 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve J:zl.r2 =71. The midpnints of its sides also lie on

the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643516744 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4@ QG68e ABCD @ Qg &1d8R ¢

B

AIQg F12 699 QI QRS RU6a 2

Q608 ¥2y?=1 QU6a 2986 | W@ QFeEgR AFAIRTE
@86 | 6669 ABCD 906206 6I0T0 @6 268

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516745 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax + by +cz + d=0 bisect the line joining the points (4, —3, 1) and (2, 3, —5) at
7

the right angles. If a, b, ¢, d are integers, then the minimum wvalue of {a2 Fb2 + 2 d*""—] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643516745 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QIEae @9 (4, —3,1) 99° (2,3, —5) Q 6QI6 @R 2l 604 AR ax +by+cz+d=0 AAERIEER
AAGUE F6Q | 9@ a, b, ¢, d g QUR, 666 (a+b2+2+d?) @ QUIREA(ILF]) gaY 2es

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 86 Question Id : 8643516746 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planes parallel to the plane x — 2y + 2z~ 3 =0 which are at unit distance
from the point (1, 2, 3)isax + by +cz+d =0. If (b —d)=K(c—a), then the positive value of K
15 o

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643516746 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AA6R x —2y+2z-3=0 Q2 AAILQ 021 §Q (1, 2, 3) O 9P IFR QAQGES 2R AR AMRQE
ax+by+cz+d=01 @@ (b—d)=K(c—a), 6662 K @ dRIAR FRY 2168

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643516747 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

4R A4@6a 25 P4 Jaewa il 2Ig (fa 9R) 40 @F 260 | @68 d9a 60 @d6Q QA G4 8 ©
Qo6 ¥ qEl deeg G493 TuIAN | 99 QEAIR JFNAIEEE A3l 2Ig 39 od @49, 6069 geR BYs
gIgeel dgese @ua (edea) 2ee

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643516748 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The missing value in the following figure is
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The number of solutions of the equation |cotr|= cotx + —— in the interval [0, 27] is
sinx
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